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Squaring a Binomial

- To expand a product of polynomials
means to remove brackets by
multiplying and then simplify by
adding/subtracting LLike" terms.

- We must use the Distributive Property
to multiply polnomials.

What 1s the 3-Step rule??? Ex: (2x-7)

- 1s used when you want to square a binomial.

- here is how it goes...
(1) Square the first
(2) Product of the first and last, then double

(3) Square the last

Another example??? Example - Squaring a Binomial.avi

Let's do some examples...
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(2x-3)" = ‘#x“nx +17
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(5x+2,y= 25% ‘4 20x + 4

You try...
(K- €)™ = X 12x+30

(bx - 4)2: 36X 48X +16
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MORE EXAMPLES...
1) :@1) = 10X -25%

N
Ex fo\hcl <

Factov
2) (49: -3y’ 12,1‘ —y* )

3) 2(7%"1 — w)— 31¢-*(1¢-* + 1)— (w‘l — 4w+ 2)
4)(3w —2)

5) 5(4w + 3 )
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Homework...Mmultiplying Polynomials Worksheet
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Q Example - Squaring a Binomial.avi

Q Multiplying Polynomials.pdf
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Kuta Software - Infinite Algebra 1
Multiplying Polynomials
Find each product.

1) 6v(2v + 3)

3) 2x(-2x-3)

5) 2n+2)6n+1)

7) (x=3)(6x-2)

9) (6p+8)(5p—8)

11) (2a-1)8a-5)

Name

Date

2) 7(=5v—18)

4) —4(v+1)

6) (4n+1)2n+6)

8) (8p—2)6p+2)

10) B3m—1)8m +7)

12) (5n+6)(5n-75)

Period





13) (4p—1)° 14) (7x-6)(5x +6)

15) (6n+3)(6n—4) 16) (8n+1)(6n—3)
17) (6k+5)(Sk+5) 18) (3x—4)(4x+3)
19) (4a+2)(6a* —a+2) 20) (7k—3)(k* — 2k +7)
21) (7% = 6r-6)(2r—4) 22) (n*+6n-4)2n-4)

23) (6n> —6n—5)(7n> +6n-5)
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24) (m* =7Tm—6)Tm* —3m—17)





Kuta Software - Infinite Algebra 1
Multiplying Polynomials
Find each product.
1) 6v(2v +3)

12v* + 18y

3) 2x(—=2x—3)
—4x* — 6x

5) 2n+2)6n+1)
12n* + 14n +2

7) (x=3)6x-2)
6x> —20x+6

9) (6p+8)(5p-38)
30p* —8p — 64

11) (2a—1)(8a-5)
16a> —18a+5

Name

Date

2) 7(=5v-18)
—35v— 56

4) —4(v+1)
—4v -4

6) (4n+1)2n+6)
8n’ +26n+6

8) (8p—2)(6p+2)
48p* +4p—4

10) Bm—1)8m+7)
24m* +13m -7

12) (5n+6)(5n=75)
25n% + 5n— 30

Period





13) (4p—1)° 14) (7x-6)(5x +6)

16p> —8p+ 1 35x% + 12x - 36
15) (6n + 3)(6n — 4) 16) (8n+1)(6n—3)
36n> —6n—12 48n> — 18n -3
17) (6k+5)(5k+35) 18) (3x—4)(4x+3)
30k> + 55k + 25 12x2 —7x—12
19) (4a+2)(6a> —a+?2) 20) (7k=3)(k* = 2k +7)
24a° + 8a* + 6a + 4 7k —17k* + 55k — 21
21) (7P = 6r-6)2r—4) 22) (n* +6n—-4)2n—4)
1473 — 4017 + 121 + 24 20 +8n* —32n+ 16

23) (6n* —6n—-5)(7n* +6n-1>5)
2n* —6n° —101n% +25





24) (m* =7Tm—6)Tm* —3m—17)
Tm* = 52m> = 28m> + 67m + 42

Create your own worksheets like this one with Infinite Algebra 1. Free trial available at KutaSoftware.com
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